ADD LENGTHS







1) Convert the measurements.

1cm = mm
I1m= cm

2) 47 + 25 + 13 =

3)128cm=1m + cm
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1) Convert the measurements.
1cm= 10 mm
Im= 100 cm

2) 47 + 25 + 13 = 60 + 25 = 85

3)128cm=1m+ 28 cm
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Tommy uses toy bricks
to make a tower.

What is the height of
the tower?

53 cm

18 cm
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23 cm
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The height of the tower is 71 cm.



What is the length of the tower? Havea thi”km

23+ 17 =40
40 + 24 = 64 £3 cm
64 cm
18 cm

23 cm 12cm 12cm 17 cm
|

24 cm
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20mmM+10cm = | 20 |cm

1I0mm=1cm

2¢cm+10cm = 12 cm

I1m80cm+ | 20 |cm =2 m

180cm 4+ | 20 |cm =200 cm
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Have a go at questions @
1 — 3 on the worksheet




A mat is 45 cm long.
A rug is 63 cm long.

How long are they altogether

108 cm =1 mand 8 cm
108 cm

A

?

Mat

45 cm

63 cm
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A papercl.lp is 30 mm long. Have a think m
A crayon is 9 cm long.

Dexter arranges some paperclips
and crayons like this:

Does his pattern fit onto a 30 cm long piece of
paper? Yes

G ISEGSa &

P amm 9 cm 3D anmm 38 am 9 cm
3+9=12
12+ 12 =24

3X9 =27 24 + 3 =27
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Have a go at the rest of
the worksheet




